Please put your name at the bottom of the page.

This 11+ paper contains 80 questions.
You have 50 minutes to complete the test.
Mark all answers clearly on the answer sheet.

Make sure any mistakes are erased.
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In these questions you must choose one word
from the top line and one word from the bottom
line that you think are the most opposite in
meaning.

Example

(high right trust)
(left write verify)

Answer =right left
Question 1

(simple complex sufficient)
(costly difficult pretend)

Question 2

(hope straight strict)
(wavy remove potential)

Question 3

(revolt inspire wealth)
(prove poverty boast)

Question 4

(slumped burrow welcome)
(kingdom animal banish)

Question 5

(rapid cast perfume)
(slow forward jester)

Question 6

(interior inhale inspire)
(exhale extend extra)

Question 7

(praise power principal)
(criticise elevate remote)

In these questions you must decide which
number comes next in the sequence. Mark it on
your answer sheet.

Example

3691215

Answer = 18

Question 8

64 60 56 52 48 (7)

Question 9

19 38 32 64 58 116 (?7)
Question 10

12 6 18 9 (7

Question 11

46 41 37 34 32(7)

Question 12

78 89 100 111 122(?)

Question 13

45 39 33 27 21 15 (?)

Question 14

34 40 25 31 16 (7)

Question 15

Clare is four times as old as her son Trevor was
4 years ago. If Trevor is 14 next year how old is
Clare next year?
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In these questions you must choose two words In these questions the number in the middle is

from the five words that you think are the odd made the same way in each group. Work out the
ones out. Mark your answers on your answer missing number and mark it on the answer sheet.
sheet.

Example
Example

2(12)6 14282 12 () 3
arm leg human tongue person
Answer = 36
Answer = human person

Question 23
Question 16
14 42) 3 24 (96)4 13 (D) 5
ill sick poorly healthy vomit

Question 24
Question 17
19 (40) 27 15 (30) 21 32 (7) 8
exterior interior indigo inside within

Question 25
Question 18
18 (36) 3 14 (142 8 (7 7
hawk eagle sparrow bird falcon

Question 26
Question 19
56 (14) 8 40 (16)5 93 (1) 3
number figure digit shape count

Question 27
Question 20
12 (9) 4 20 (12) 5 36 (7) 4
burrow den dig fly nest

Question 28
Question 21
45 (144) 27 13 (84) 29 51 (D) 19
write style paint artist draw

Question 29
Question 22
32 424 76 (25 26 59 (7)) 25

fool idiot trick magic deceive
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In these questions you must choose the words
that best complete the sentences. Mark your
answers on the answer sheet.

Example

man is to (woman human boy)
as girl is to (child boy female)

Answer = woman boy
Question 30

television is to (actor watch BBC)
as radio is to (music listen talk)

Question 31

whole is to (piece hole part)

as male is to (mail man woman)
Question 32

horror is to (Dracula scary movie)
as comedy is to (sob film funny)
Question 33

square is to (two shape triangle)
as cube is to (block three line)

Question 34

flock is to (lion bear sheep)
as swarm is to (fish locust monkey)

Question 35

mauve is to (ink colour move)
as tarragon is to (terror cook herb)

Question 36

shame is to (pride naughty ham)
as grown is to (row boy size)
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In these questions you must decide which two
letters which best complete the pattern. There is
an alphabet to help you. Mark your answers on
your answer sheet.

Example

AB is to CD
AS EFisto (7?)

Answer = GH
Question 37

PT isto RV
as NA is to (?)

Question 38

BAisto YZ
as FGis to (77)

Question 39

KPisto OT
as DH is to (7?)

Question 40

SE is to OH
as TN is to (??7)

Question 41

VZis to AC
as UQis to (?7?)

Question 42

GAisto BU
as BE is to (7?)

Question 43

MK is to NP
as JQis to (?7?)




In these questions you must choose a word that
is similar in meaning to the words in brackets.
Mark one of the five words on the answer sheet
that goes well with both sets of words.

Example

(even equal)
(amusements circus)

Answer = fair
Question 44

(remove unblock)
(translucent see-through)

Question 45

(thin slim)
(prop place)

Question 46

(herd flock)
(belief confidence)

Question 47

(smooth rub)
(grit grains)

Question 48

(bind knot)
(scarf neckerchief)

Question 49

(universe cosmos)
(capacity area)

Question 50

(adhere glue)
(gel slime)

In these questions there are three pairs of words.
Each word is made in the same way. Find the
missing word and mark it on the answer sheet.
Example

(grades read) (urchin rich) (whales ?777)
Answer = heal

Question 51

(harden earn) (marvel earl) (grades ?777)
Question 52

(stream teat) (string tint) (attend ?777)
Question 53

(oldest less) (almost loss) (thrill 7777?)
Question 54

(almost loss) (impose moss) (stroll ??777)
Question 55

(bottle blob) (tandem teat) (tanned ?7??7)
Question 56

(longer gone) (former more) (gather 7777?)
Question 57

(shame hams) (stops tops) (drain ??7?7?)
Question 58

(famous sums) (moaned dead) (castle ???7?)
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In the questions the letters stand for numbers.
Work out the answer to each sum and then mark
the answer as a letter on the answer sheet.

Example

fA=1B=2C=3D=5=E=6
Whatis A+ B+C=(?) Answer=E

Question 59

IfA=4 B=8C=12D=7 E=21
Whatis E~D x A?

Question 60

IfA=34B=32C=18 D=4 E=16
Whatis A -C +E?

Question 61

IfA=17B=7C=18 D=6 E=16
Whatis A +D-E

Question 62

IfA=13B=5C=9D=3 E=19
WhatisCx D - A + B?

Question 63

IfA=4B=6 C=2D=0E=12
Whatis Ax B+ E x D?

Question 64

IfA=24 B=17 C=7 D=3 E=56
Whatis E+ C x D?

Question 65

IfA=13 B=2C=12D=5 E=10
Whatis C+ A +D?

In the following questions you must take one
letter out of the word on the left and add it to the
word on the right. You must not change the
order of the letters and the two words must make
sense. Mark the answer on the answer sheet.
Example

read led

Answer = a (red lead)

Question 66

gripe bat

Question 67

shame tank

Question 68

crowd browse

Question 69

place swam

Question 70

windy all

Question 71

prang tie

Question 72

slime pills
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Question 73

What day will it be in four days if the day before
yesterday was Tuesday?




In these questions you must decide which two
words are the most similar in meaning. You
must choose one from the top row and one from
the bottom row.

Example

(objective item piece)
(lesson aim peace)

Answer = objective aim
Question 74

(beat fight mock)
(feeble rhythm challenge)

Question 75

(amaze trick falter)
(vacation remove astonish)

Question 76

(pansy bloom envious)
(jealous flower explosion)

Question 77

(fumes anger pollute)
(smoke pacify car)

Question 78

(encourage promote stop)
(prevent intend grade)

Question 79

(verify version verdict)
(consider contour confirm)

Question 80

(shelter home curve)
(residence straight roof)
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